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SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions

1. What is Financial Management?

2. List out the objectives of Financial Management.

3. What do you mean by Cost of Capital?

4. What is meant by Dividend?

5. What is Working Capital?

6. What do you understand by Operating Cycle?

7. From the following information, Calculate operating leverage:

Sales

`60,000

Variable cost  
`3,00,000

Fixed cost       
 `1,50,000

8. Earnings to Equity Share holders `3,30,000

Market value of Equity 

  `18,00,000
 
Find out the rate of equity capitalization.
9. From the following information, Calculate cost of redeemable preference share capital 

Annual cost

`  1,91,250

Average value of RPS     `15,37,500

10. Interest after tax `1,04,000, Net proceeds `19,50,000. Calculate the cost of debentures
11. Compute the market price per share. Use walter model

Dividend per share
` 20

Rate of Return
             18%

Earnings per share       
` 20

Cost of capital                   10% 
12. To Calculate Earning per shares from the following information.

Profit for Equity shareholders 
`10,00,000

No. of Equity shares

`  1,00,000

    SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions

13. State the importance of Finance.

14. Explain the various components of Working Capital.

15. The capital structure of Madan Ltd. Consists of equity share capital of ` 8,00,00 (shares of ` 100 each) and ` 8,00,000 of 12% debentures. Sales have increased from 80,000 units; the selling price is ` 15 per unit. Variable cost amounts to ` 9 per unit and Fixed cost amonts to ` 1,60,000. Determine financial leverage.

16. Jennifer Ltd. Is expecting an annual EBIT of ` 2,00,000. The company has             `2,00,000 in 10% Debentures. The equity capitalization rate (ke) is 12%. You are required to ascertain the total value of the firm and overall cost of capital.

17. The rate of return available to the equity shareholders in the Eva Ltd. Is 20% and the personal tax rate applicable to shareholders is 22%. It is expected that the shareholders will have to bear a brokerage cost of 3%.  Compute the cost of retained earnings.

18. The following data relates to Yanina Ltd.
Earnings per share = `14

Capitalisation rate = 15%

Rate of return
 = 20%

Determine the market price per share under Gordon’s model if retention is 40%.

19. From the following information extracted from the books of a manufacturing company, compute the operating cycle in days:

Raw materials held in stock

=
27 days

Work- in- progress


=
13 days

Finished goods held in stock

=
  9 days

Credit period allowed to debtors

=
11 days

Average period of credit allowed by suppliers= 16 days
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions
20. The following projections have been given in respect of O Bright Co:

	Output



        3,00,000 units

Fixed cost (`)
                                3,50,000

Unit variable cost (`)
                                1

Interest expenses (`)
                       25,000

Unit selling price (`)                                   3



On the basis of above information, calculate 

(a) Operating leverage

(b) Financial leverage

(c) Combined leverage

21. Following information is available with regards to the capital structure of Edwards Ltd:

	
	Amount(`)
	After tax cost of capital

	Debentures

Preference share capital

Equity share capital

Retained earnings
	12,00,000

4,00,000

8,00,000

16,00,000
	5%

10%

15%

12%


22. The earnings per share of Nadal Ltd. Are ` 15 and the rate of capitalization applicable to the company is 12%. The productivity of earnings (r) is 12%. Compute the market value of the company’s share if the payout is (i) 20% and    (ii) 50%. Which is the optimum payout?
– use Walter model.

23. From the following information relating to Perara Ltd., calculate (a) Operating cycle, (b) No. of operating cycles in a year assuming a 360 day year, and             (c) Average of working capital required, if annual cash operating expenses are       ` 150 lakh.
Stock holding:  Raw materials

: 
 2 months

Work-in-progress



:
15 days

Finished goods



:
 1 month

Average debt collection period

:
 2 months

Average payment period


:
45 days
———————
[P.T.O.]
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